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I B.Tech I Semester Regular Examinations January 2012
ENGLISH -1
(Common to all branches)
Time: 3 hours Max Marks: 75
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PART - A
All questions carry equal marks in Part - A [4 x 10 = 40M]
Answer any FOUR in Part - A
1. Ask your Manager to increase your salary--Write a dialogue.
[10M]
2. Discuss the importance of life skills.
[10M]
3. Describe an important festival that you celebrate in your village.
[10M]
4. ‘Coastal corridor’ is going to destroy agricultural land as well as environment-Discuss.
[10M]
5. Give the meaning of the underlined word and write down your own sentence using the
word.

Jawaharlal Nehru, the first Prime Minister of India, in his utterance, asked the
people of India to take a pledge that they would work with dedication for the poor and
suppressed. The_vicious measures of the rich for the exploitation of the poor _stunted
the economic growth of the country. Hence every citizen must render self-less service
substantially, with a vision towards a modern India which has a unique and valuable
heritage

[10M]
Part-B
Note: Answer all question
6.(a) L Write the synonyms.
(1) Epic (i1) Redeem (iii) Tryst
(iii) Aseptic (iv) Paranoia (iv) Rivals
[3M]
IL Write the Antonyms.
(i) Solemn (i1) Unorthodox (ii1) Misery
(iv) Disapproval (v) Summit (iv) Hospitality
[3M]
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6.(b)

6.(c)

6.(d)

7.(a)

Read the following lines and make a meaningful paragraph. 3M

(1) She nodded her head to refuse and the pot of milk fell down.

(1) A village girl was carrying a pot of milk on her head.

(iii))  She had a fanciful idea that the king had proposed to her.

(iv)  She thought that she would sell the milk and become rich.

W) Her mother had beaten her up and she cried.

(vi)  In the same state of mind, she wanted to reject the king’s proposal.

Make similar type of sentences.
1) Please close the door!

(i1) You may go now.

(ii1)) I want a piece of paper.
(iv)  May I come in?

W) Alas! What a fall!

(vi)  Where were you till now?

Fill in the blanks with suitable verb forms.

(1) The plane--------- at 4 p. m (arrive)
(i) The train ----------=- before we reach the station.(leave)
(1)  The boys ----=------ cricket in the evening. (play)
(iv)  Justice as well as Mercy------------- it. (allow)
W) The Sun-------- in the east. (rise)
(vi)  Ihave------------ for a long time. (know)
Match the following.
Nouns Adjectives
reality angular
Energy dutiful
Duty real
Noise energetic
Divinity noisy
Angle. Divine
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7.(b) L Correct the following.
1) ingsiwri
(i) eavhne
(ii1)  realc
(iv)  setodm
(v) maler
(vi)  noisiv
[3M]
IL. Correct the following sentences.
(1) The sweets are the uses of the adversity.
(i) He ordered for story books.
(i11))  He said that he is not coming.
(iv)  The student gave the examination.
(v) Scarcely had he gone, then the rain started..
(vi)  He can play violin.
[3M]

7.(c)

7.(d)

Read the following passage and pick the adjectives and Adverbs.

The rampant crowd attacked a big shop and looted it entirely. The mischievous
boys and the lovely girls ran wildly into all the shops. They chose the playing toys, dark
chocolates and colourful hair bands eagerly. The police watched it helplessly.

[3M]
What is Tone? Explain with examples.
[3M]
PART -C

Read the following passage and Answer all the questions.

Recent archaeological evidences indicate that European man is far older than was
previously thought. And the evidence is breaking down a line of thinking called the
diffusion theory. This theory suggests that civilization as we know it originated in the
Middle East and then slowly diffused throughout the world, including Europe. It is a
theory that has been generally accepted for years. An example of this change in thinking
can be provided on the island of Malta, where some stand ruined stone temples of
unknown origin. Although scientists and archaeologists were quite certain that they were
built before the ancient Greeks and Romans, the general opinion was that the time gap
between these temples and the age of ancient Greeks and Romans was not great.
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Now through a miraculous new process of establishing the dates of civilizations,
called radio carbon dating, we can be certain that these temples were in fact under
construction before 3000 B.C that is before the pyramids of Egypt. In fact it has now
become certain that many of the great stone tombs that are dotted around Europe were
built around 4000 B.C and are quite the oldest buildings in existence. So the diffusion
theory is being replaced by a revolution in historical thinking, which suggests that the
creation of civilized objects such as stone building and metallurgy was not passed onto
Europe by superior beings from the East, but in fact occurred spontaneously in different
parts of the world.

Answer the following questions briefly.

@) What does recent archaeological evidence indicate?
(i1) What does the diffusion theory suggest?
(iii))  What were scientists and archaeologists quite sure about?
(iv)  What is the process by which we can establish the dates of civilization?
(v) What does the theory which has replaced the diffusion suggest?
[5M]
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(Common to all branches)
Time: 3 hours Max Marks: 75
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PART - A

6.(a)

All questions carry equal marks in Part - A [4 x 10 = 40M]
Answer any FOUR in Part - A
Your friend invited you to attend his sister’s wedding. Express your inability to

attend.Write a dialogue.

[10M]
Write about problem —solving skills.

[10M]
Describe an important place you have visited recently.

[10M]
Write an essay- ‘Gender Bias °.

[10M]

Give the meaning of the underlined word and write down your own sentence using the
word.

Though Industry manufactures certain goods, it inevitably damages the irrigation
and bioreserves as the fertile lands are_infested substantially. The miserable state of
economy is due to the orthodox methods of cultivation, lack of vision of the leaders that
battered the hopes of the poor.

[10M]
PART-B
Note: Answer all questions
L Write the synonyms of the following.
(i) Destiny (i1) Paranoia (iii) Puberty
(iv) Notion (v) Remnant (vi) Academic
[3M]
IL. Write the Antonyms of the following.
(1) melancholy (i1) Minor (ii1) Aseptic
(iv) Blurred (v) Miser (vi) Voluntary
[3M]
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6.(b) Rearrange the following sentences into a meaningful paragraph.
(1) He wanted to stay there forever.
(i) Once a poet was travelling and reached a dark forest.
(ii1))  He also listened to the chirping sounds and songs of the birds.
(iv)  He admired the lovely green trees and wild creepers.
(v) But he left the place as he has some duties to complete.
(vi)  He thought that he could not afford to while away his time.
6.(c) Make similar sentences.
(1) What is your name?
(i) She is a blind girl.
(ii1))  Can you come?
(iv)  What a fool you are!
(v) You may go now.
(vi)  Itis going to rain today.
6.(d) Fill in the blanks with suitable verb forms.
@) The train----- not- yet.(be, arrive)
(i) We ----——-meeee- in the tent, as it --------------- raining.(remain, be)
(i)  If she--------------- me, [------------- to the party.(invite, go)
7.(a) Match the following.
Nouns Adjectives
Ancestor awful
Noise quarrelsome
Vigor ancestral
Awe noisy
Quarrel angry
Anger vigorous
7.(b) L Correct the following words.
@) rtuoleb
(i1) dataman
(iii))  Eplioc
(iv)  dildem
v) arferm
(vi)  reven
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IL. Correct the following sentences.
(1) This cloth is superior than the other one.
(i) John is suffering with fever.
(i11))  The book comprises of five chapters.
(iv)  He not only cheated me but also my friend.
v) This site is belonging to him.
(vi)  Ravi is tallest boy in the class.
[3M]

7.(c)

7.(d)

Read the following passage and identify the list of Adverbs and Adjectives. 3M
India is a vast country where people of different religions live peacefully. But for

the selfish motives of some of the wicked politicians, here people are friendly and
amicable. As a developing country, India should completely focus on the welfare of the
weaker sections.

[3M]
Explain the features of ‘Intonation’ .

[3M]

PART-C
Read the passage and answer the questions

A river is any natural stream of fresh water, larger than a brook or creek, which
flows in a well defined channel .Usually it discharges into another larger body of water:
an ocean , a lake or an another river. In rare instances, in regions of porous soil it soaks
into the ground, or in excessively dry regions, evaporates, in which case it becomes a lost
river. In other regions of favourable rock conditions it may also run under ground for
certain distance
Disappearing and re appearing one or more times, a river with a well- cut channel and a
graded bed, usually reaching base level at its mouth ,is an adolescent river. Rivers as they
grow older usually widen their valleys accordingly, unless prevented by certain
geological formations or occurrences. A river whose upper waters sometimes in the past
suddenly found a new outlet, diminishing the volume and force of the original river and
also its length, is known as beheaded river. In general the size of river depends on the
geographical land scape, which ranges from the insignificant drainage areas of streams
rising on high ground near the coast and flowing straight down the sea, to immense parts
of the continents, where rivers rising on the slopes of mountain ranges far inland have to
traverse vast stretches of valleys and plains before reaching the oceans
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Answer the following questions briefly.

@

(ii)
(iii)
(iv)
)

Which phrase tells you that the shape of land affects the diamond shape of the

river?

In some cases a river dries up. Name the two conditions when these happen?

Can a river become invisible at times? If yes when?

What factors obstruct the natural process of older rivers increasing their width?

If part of river suddenly changes its direction, how does it affect the entire river?
[5M]
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Time: 3 hours Max Marks: 75
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PART - A

6.(a)

All questions carry equal marks in Part - A [4 x 10 = 40M]
Answer any FOUR in Part - A

Your vehicle hit the divider and you are driving fast. You are stopped by the traffic
police — Write the situational dialogue.

[10M]
What kind of health care you suggest for staying fit?

[10M]
Describe a travel and narrate your experience?

[10M]
Write an essay — ‘Dignity of Labour’.

[10M]

Give the meaning of the underlined word and write down your own sentence using the
word.

Kalpana Chawla always wanted to face any challenge with courage. Her
perseverance made her select a career in Aeronautics .Her simplicity is the striking
feature of her personality .Though she had faced minor problems like the disapproval
from the public, her co-operative parents always encouraged her to achieve her career
goal. However the complex ways of destiny are difficult to understand and the end is
mournful.

[10M]
PART-B
Note: Answer all questions.
I Write the synonyms of the following.
(1) Advisory (i1) Benefit (ii1) Contamination
(iv) Tedious (v) Revolutionary (vi) Euphoria
[3M]
II Write the Antonyms of the following.
(i) Inevitable (i1) Stunted (ii1) Eliminate
(iv) Initiate (v) Unique (vi) Suppress
[3M]
Page 1 of 4

www.FirstRanker.com



WwWw..FirstRanker.com

Code No: R10101/R10

6.(b) Read the following lines and make a meaningful paragraph.
@) She nodded her head to refuse and the pot of milk fell down.
(1) A village girl was carrying a pot of milk on her head.
(ii1))  She had a fanciful idea that the king had proposed to her.
(iv)  She thought that she would sell the milk and become rich.
V) Her mother had beaten her up and she cried.
(vi)  In the same state of mind, she wanted to reject the king’s proposal.

6.(c) Write down similar sentences .
@) Where there is a will there is a way.
(i) Would you like to have some tea?
(ii1))  She never speaks the truth.
(iv)  How beautiful the garden is!
v) I saw a huge monster.
(vi)  Once upon a time this land was ruled by the angels.

6.(d) Fill in the blanks with correct suitable verb forms.

@) I for a long time.(know)

(>i1) The light out, while 1 reading.(go, be)

(i)  WhenI the station, the train .(reach, start)
av) 1 his letter a week ago.(receive)

7.(a) Match the following.

Nouns Adjectives

reality angular

Energy dutiful

Duty real

Noise energetic

Divinity noisy

Angle. Divine
7.(b) L Correct the following words

@) lengte

(i1) mitsum
(ii)  reason
@iv)  tehsif
v) veproim
(vi)  posturp .

Page 2 of 4

www.FirstRanker.com

Set No. 3

[3M]

[3M]

[3M]

[3M]

[3M]



WwWw..FirstRanker.com

Code No: R10101 / R10 Set No. 3
IL. Correct the following sentences.
(1) Bible is the holy book.
(i1) He described about the journey
(1)  I'saw the boy when he is playing
(iv)  He works hardly
(v) This is biggest of all.
(vi)  One must keep his promise.
[3M]

7.(c)

7.(d)

Read the following passage and identify the list of Adverbs and Adjectives.

India is a vast country where people of different religions live peacefully. But for
the selfish motives of some of the wicked politicians, here people are friendly and
amicable. As a developing country, India should completely focus on the welfare of the
weaker sections.

[3M]
Tone is the characteristic of English language—Discuss.
[3M]

PART C
Read the following passage. Answer all the questions.

Recent archaeological evidences indicate that European man is far older than was
previously thought. And the evidence is breaking down a line of thinking called the
diffusion theory. This theory suggests that civilization as we know it originated in the
Middle East and then slowly diffused throughout the world, including Europe. It is a
theory that has been generally accepted for years. An example of this change in thinking
can be provided on the island of Malta, where some stand ruined stone temples of
unknown origin. Although scientists and archaeologists were quite certain that they were
built before the ancient Greeks and Romans, the general opinion was that the time gap
between these temples and the age of ancient Greeks and Romans was not great.

Now through a miraculous new process of establishing the dates of civilizations, called
radio carbon dating, we can be certain that these temples were in fact under construction
before 3000 B.C that is before the pyramids of Egypt. In fact it has now become certain
that many of the great stone tombs that are dotted around Europe were built around 4000
B.C and are quite the oldest buildings in existence. So the diffusion theory is being
replaced by a revolution in historical thinking, which suggests that the creation of
civilized objects such as stone building and metallurgy was not passed onto Europe by
superior beings from the East, but in fact occurred spontaneously in different parts of the
world.
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Answer the following questions briefly.
(1) What does recent archaeological evidence indicate?
(i1) What does the diffusion theory suggest?
(i11))  What were scientists and archaeologists quite sure about?
(iv)  What is the process by which we can establish the dates of civilization?
(v) What does the theory which has replaced the diffusion suggest?
[5M]
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ENGLISH -1
(Common to all branches)
Time: 3 hours Max Marks: 75
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PART - A

6.(a)

All questions carry equal marks in Part - A [4 x 10 = 40M]
Answer any FOUR in Part - A

Assume you as a Press Reporter, meet the victims of floods. Find out the details of rescue
operations and relief work by the government. Write the dialogue.

[10M]
How does Team work help you to get the desired output within the limitations of time?

[10M]
Describe the Museum you visited last week-end.

[10M]
‘Time and Tide waits for none’---- Expand the line into a paragraph.

[10M]

Give the meaning of the underlined word and write down your own sentence using the
word.

Though Industry manufactures certain goods, it inevitably damages the irrigation
and bioreserves as the fertile lands are_infested  substantially. The_miserable state of
economy is due to the orthodox methods of cultivation, lack of vision of the leaders that
battered the hopes of the poor.

[10M]
PART_B
Note: Answer all questions.
L Write the synonyms of the following.
(1) Annulment. (i1) Coercion (ii1) Realm
(iv) Stupendous (V) aeronautics (vi) Harassment
[3M]
II. Write the Antonyms of the following.
(1) Exclusive. (i1) Modest (i11) Minor
(iv) Voluntary (v) inalienable. (vi) Irregular
[3M]
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6.(b) Rearrange the following sentences into a meaningful paragraph.
(1) He wanted to stay there forever.
(i) Once a poet was travelling and reached a dark forest.
(ii1))  He also listened to the chirping sounds and songs of the birds.
(iv)  He admired the lovely green trees and wild creepers.
(v) But he left the place as he has some duties to complete.
(vi)  He thought that he could not afford to while away his time.
6.(c) Make similar Sentences.
(1) Where are you?
(i) My name is Uncle Sam.
(ii1)  We decorated the Christmas tree.
(iv)  What a pity!
) What a fool you are!
(vi)  Please give me a glass of water.
6.(d) Fill in the blanks with suitable verb forms.
@) The train--------------- just now. (_arrive)
(i) We ----——-eeee- in the tent, as it --------------- raining.(remain, be)
(i)  If she--------------- me, [------------- to the party.(invite, go)
(iv)  She says she--------- unwell. (is, was)
7.(a) Match the following.
Nouns Adjectives
Rebel energetic
Noise quarrelsome
Vigour rebellious
Energy noisy
Quarrel angry
Anger vigorous
7.(b) L Correct the following words.
@) rtuoleb
(i1) dataman
(iii))  Eplioc
(iv)  dildem
v) arferm
(vi)  reven
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IL. Correct the following sentences.
1) I am having a car
(i) John is suffering with fever.
(i11))  The book comprises of five chapters.
(iv)  He not only cheated me but also my friend.
(v) The two sisters quarreled among themselves..
(vi)  T'have gone to US last year.
[3M]

7.(c)

7.(d)

Read the following passage and identify the list of Adverbs and Adjectives.

India is a vast country where people of different religions live peacefully. But for
the selfish motives of some of the wicked politicians, here people are friendly and
amicable. As a developing country, India should completely focus on the welfare of the
weaker sections.

[3M]
Explain the features of ‘Intonation’.
[3M]

PART-C

Read the passage and answer the questions.

A river is any natural stream of fresh water, larger than a brook or creek, which
flows in a well defined channel .Usually it discharges into another larger body of water:
an ocean , a lake or an another river. In rare instances, in regions of porous soil it soaks
into the ground, or in excessively dry regions, evaporates, in which case it becomes a lost
river. In other regions of favourable rock conditions it may also run under ground for
certain distance
Disappearing and re appearing one or more times, a river with a well- cut channel and a
graded bed, usually reaching base level at its mouth ,is an adolescent river. Rivers as they
grow older usually widen their valleys accordingly, unless prevented by certain
geological formations or occurrences. A river whose upper waters sometimes in the past
suddenly found a new outlet, diminishing the volume and force of the original river and
also its length, is known as beheaded river. In general the size of river depends on the
geographical land scape, which ranges from the insignificant drainage areas of streams
rising on high ground near the coast and flowing straight down the sea, to immense parts
of the continents, where rivers rising on the slopes of mountain ranges far inland have to
traverse vast stretches of valleys and plains before reaching the oceans
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Answer the following questions briefly.

@

(i)
(ii1)
(iv)
)

Which phrase tells you that the shape of land affects the diamond shape of the

river?

In some cases a river dries up. Name the two conditions when these happen?

Can a river become invisible at times? If yes when?

What factors obstruct the natural process of older rivers increasing their width?

If part of river suddenly changes its direction, how does it affect the entire river?
[5M]
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